Ratio a(0 x) (um) for PV

o(0y) (Um) for PV

0(0 z) (um) tor PV

£ £
= 2
"""""" S
10°E 53 =T
Fo >
- o
I Q
[ =
"""" Q
........ 1S
S
10 2 102
= o
[ ©
J..u?g_ 9 9 1.UD!
X Il T
r o4 [od
| A 1
0.95 : 0.95Lii il
102
Sun1of track p_ (GeV)
DQV_CRF_TTbhase -
_— DéM_CKF TT retrainOldFiles113
—— DOQM~CKF_TT retrainOIldFiles125
: £ £
= 2
"""""" 3
102 5 5 10°
Fo >
- o
» (3]
[ >
"""" ]
........ S
S
10 = 10%
= o
[ ©
LUl o o v
r I I
r 24 24
i 1
0.95 S 0.95
Suml%f track p_ (GeV)
—_ 103
£ 10
=
N
2
SR O 10°
10? -1l :
10%E g :a0s

2
Suml%f track p_ (GeV)

Ratio

10

L.UD!

0.95 il

2
1 10Sum of trac]kop (GeV)
T

0(0 z) tor merged vertices (Um)

Ratio

10?

R I I 2
Sunl100f track p_ (Ge\;‘)0



	Contents
	Page 1


